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No. of Questions/ws=1 &t 7w @ 150

s <% Thsiai Full Marks : 450

AOE ; 29 [T : 450

Note : (i) Attempt as many questions a; you can, Each question carries 3 (three)
marks. One mark will be deducted for each incorrect answer Zoro
mark will be awarded for each unattempied question.

AR 71 ) #et T F W | U U 3 (FR) 2w # ) e
ﬁn:am%%qqmﬂmmm | Welh SEETE W W Y
I

(i) If more than one alternative answers scem to be apprOXimate to the
correct answer, choose the closest one.
1y Gt dwfeas v Wl o & fee ®, @ fwerm wdl g
) '

e

1, The Supreme Court has struck down which of the Constitu;
Tt
and NJAC Actas unconstitutional. e

(1) 98th Amendment (2) 99th Amendment

(3) 100th Amendment (4) 97th Amendment

gt 7 3 4fmm & fem w -

o Hﬁmaﬂxnmcw&ﬁwﬁﬂﬂ&mﬁ;m&ﬁmﬁ
(1) 98 & wviem ——_ (2) 99 g

(3) 100 & H (4) 97 F waihgy

(1)
(Turn Gyer)
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2. Who was elected Nepal's Prime Minister in October 2013 7

(1) Sushil Koirala (2) KPSOL (3) G Kairala (4) SB Thapa
ol B # agaa 2015 8 A & w59
(1) mele wemen () & 6w e (3) o, 6, wEwen (4) # w5
3. Andhra Pradesh’s futuristic new capital would be
(1) Hyderabad () Amaravati (3) Vijayanagaram (4) Kurnool
A e & i A ad werd Ed
(1) Az0en (2) st (3) Fsmmmn (4) FH
4. Name the winner of the Nobel Prize in Physics for the year 2015 :
(1) Takiaki Kajita (2) Satoshi Omura
(3) William €. Campbell (4) Azz Sancar

aﬂ:mﬁﬁsfﬁﬂﬁﬁﬁﬁﬁﬂgwﬁr{#ﬁﬂmmmﬁi

5 A mhﬂmﬁi'mﬂeuf]‘umﬁlﬂtpﬂﬁ the forest cover in Dndia s
. Asp

[ 23 21% of pographical area
|: 1 -:I Iﬁ“fr'] “E Emg‘raphlfﬂ] arci l' ] 2% 0l g

1) 16% Ufgmgmphim'l arca (4) 31% 0l geographical area
1 o

(L drpdntits

(1)
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Bz il iter HEE % s v el 8
(114 #3 : 26 yfowm (2) v &= = 2] gfwa
(14 &7 = 16 T (4) 4 83 & 31 ofm
6. Who amongst the following batsman has scored a triple eentury in test match
{1} Sachin fendulkar (2) Rohit Sharma (3) Virender Sehwag (4) Rahul Dravid
fferfiam @ o agem 3 3= 4 3 fowo o = d ¢
(hadadgmr @) dfmwi o) diemEEn (4) wge gl
T. Wha is the champion of Formula One US Grand Prix 2015 7
(1) Lewis Hamilton (£) Nico Rosberg
(3) Sebastian Vettel (4) Kimi Raikkonen
SHE 79 9,98, Mg diew 2015 & g a2 7
(1) &dm e (2) Froet waaml
(3) Fafe 4 (4) fsfis A

8. Which of the following is the longest river in Asia ?

pa—— 0 Yellow River

(4) Amur

(3)

(Turn Over
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fedgrm St o adf H s d 2 7
(1) i (2) e (3) 97 72 (4) =

9. Which of the following holds the top rank in Global Competitiveness Indes
2015-16 7

(1) I (2} Swilzerland (3} Singapore (4} Germany
Frs 4t & b A afeml e 2015160 fd fF e 7
(1) ¥ (2) el (3) ey (4) =i

[0, World's first airport to fully run on solar power is situated at :
{1) Kochi {2) Vancouver (3) Dubai (4) Zunch
oft a2 & i 1 9L 90 T g A e g g e w fRa ke
(1) & (2) ¥ (3) g% (4) =

11. The film honoured with the Golden Peacock award for best film at 46th
Fi'klis:

(1) The Man who knew Eternity (2} TheClan
(%) Gisensleinin Guanajuate {4) Embrace of the Serpent

i #1 fe®, 46 @ FFEL ﬁ,nﬁhﬁm%%ﬂrﬁz@mﬁmgﬁnﬁm
fa;znrrm%:
mmi’FfEi"W‘ﬁﬂi

{3}3@qﬁﬁﬁwﬂmm

(2) g wE

(4) T 9 4 e

{Cumrim < |

{4)
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12.Who won the women's single crown in Macau Open Grand Prix Gold Champion-
ship, 2015 7

{1) Minatsu Mitani (2) SainaNehwal (3) Shin Seung Chan (4) P.V. Sindhu
mﬁﬁqhﬂwrﬁﬁﬁﬁmﬁn,zmﬁﬁﬂﬁwsﬁﬂmmﬁrﬁiﬂm?
W st Q) e dewa (3) ffaman (46 A e

13.Justice T. 8. Thakur is the ——— Chief Justice of India.
L4y denh (2} 43rd (3) 30th (4) 41st
ATl £ UE 3T T ¥ s =ty § |
(1) 40 & (2) 434 (3) 394 (4) 413
14.UN has announced 'Tnternational Year of Pulses' o the year |
#ﬁmﬂmmﬁmﬂ‘hﬂﬁﬁﬁaﬁm:
(1) 2015 (2) 2016 (3) 2017 (4) 2018

15. Which political party got maximum number of seats in the ‘Bikar election 20157

(1) BIP (2) ID (L) (3) Congress (4) RID
ﬁqﬁm#ﬁ;ﬁﬁ'ﬁmw 2015 % arfirmm w2 firsft 5
(1) diad, D33 () 3) = (4) 3m.3 9
16.1n the census 2011, which of the following Stateg I
population density (per uq ken) 7 K the Minimy,
___..—-—'—_-_‘—-—-_.__
(e I (3) Nagalypg
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ot B & o Tt 201 1 o R § =g e s (Wl i ) S

B d v

(1) somEe 93 (2 Fafam (3) AriE (4) firsnm
17.The court of Alauddin Khilii was graved by a great poet named -

(1) Firdaus: {29 Tulsidas (3) AmirKhusrn () Omar Khaivyao:

et faer @ e o HEE FE o g T B £ o AEE

(1 el (1) Aerfizm (3) =it @ (4) =i EEE
19 Whe is ealled the Father of Teonomics 7

(1) Max Muller (2) Karl Marx (1) Adam Smith (4] Amarya Sen

bl e 1 A9 FE AR

(1) fR TR (2) @ (3) vzy feam (4} A TR

19, Jow many kilometres are represented by 17 of Latitude ?

1) 321 km (2) 211 km (3) 111 km (4) 91 km
Wby e

— N et 1 il T 2 7

- (2) 211 flt (3) 111 el (4) 91 T
(1y 341 * N
. (e PATE of India's first indigenously developed nuclear submarine
20, What 15 the
K13
“”HSHMHHMB 1-] 4
{.'.ﬂ TR
(1) INS Arihant

& '-'"'i'Fi'n:anr'I

(6)
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T % IRt Tat sl g sageht w am w2 ¢

(1) 0. % ta, famgany (2) %, 15
(3) 5,0, v, sfgm (4) #3578, faEmiEea

21.Which country other than India, has got its independence on 151h Au gust?
(1) Sudan (2) frag (3) SouthKorea (4} Brazil

M o AT R 3 Y 15 e Y e w6

(1) H5M (2) W= (3) dim wihm  (4)
22. Raindrops are spherical dueto :

(1} Viscosity of water (2) Suriace tension

(3} Continuous evaporation (4) Air friction

R T o ) 8 e A E

(1) 7= 7 wrefters (2) 98 % i

(3) wifars amiva (4) ar o o

13.The paintings of Ajanta depict stories of the :

{1} Ramayana (2) Mahabharata  (3) Jatakas (4) Pﬂnl:hutann
s o et .

(7)

(Tiarn Ower
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24, Zoqila Pass connects |

(1) Kashmir ahd Tihet (2) Nepal and Tibet
(3) Lehand Kargi] (4) Leh and Srinagar
afian 2t Jrgm 2

(1) i o foream (2) ¥ w e
{3) 712 ud =i (4) &= ud A

25, %W hich part of humnan body 15 responsible for storing Glycogen 3
(1) Kidney (2) Lungs (3) Liver (4) Intestine

mﬁmﬁmﬂqmzﬁﬂmmﬁm#mﬁﬁﬁhrﬂmﬁ 7

(1 T (2) (3) 754 (4) s
26. Where is the emperor Akbar's Tomb situated ?
(1) Delhi (2) Amarkot (3) Skandwa  (4) Fatehpur Sikrt
b ey 0 A ] e 2
(1) fd (2) A (3) iz (4) e

27 The authof of the book ‘My Experiments With Truth'is :

o oAwIKalamAZd o (2) Govind Vallabh Pant
; 4) Tara Al B
(3) M.K.Gandhi A} Tam At

(Continued)

()
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e a1y uwdfEeEe faw ge’ % dew
(1) et sirget Fem A (2) e =gy T
(3) w, %, wivh (4) o afer <m

18.The language of discourse by Gautam Buddha was :

(1) Bhojpuri (2} Magadhi (3) Pali (4} Sanskrit
Tt A % v o A
(V) S (2) =y (3) Tiftn (4) e

29. Swaraj Party was formed by :

(1) €. R. Das (2) Motilal Nehru

{3} Jawaharlal Nehru (4) C.R. Das and Motilal Mehyy

e 1 o e Tk v

(1) #f, am, g gro (2) Sdieire Jee g

(3) g HEw gR (4) W, 3, 79 v e dmw 2
jﬂ.ﬂmnm‘rﬂw stretch of water connecling two seas is called -

(1) Bay @) Peninsla () Isthmas (4 gyrat

ﬁmﬁﬁ%mﬂ%ﬂﬂuﬁﬁmmﬁ:

(1) 4 (2) ST (3) e 4y 2

(%)

(Turn Qe )
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Direction : Choose the incorrectly spelt word (Q. 31-33) ;

31.(1) Dependance  (2) Dependence (3) Entrance {4} Entertain
32.(1) Percieve (2) Receive (3 Conceive {3) Belict
33.(1} Delirtous {2y Delusive {3) Hefiy {4) Hiemous

Direction : Choose the one which best expresses the meaning of the ziven nali-
cized idiorm/phrase (Q. 14.38)

34. His most trusted friend proved to be a snake in the grass.
(1) Anunreluble person (2) A hidden enemy

(3) Low and mean (4) Cowardly and brutal

15.1 have & hone to pick with you in this malter.

(2) Selfishmotive (3) Selfless motive (4) Desire

(1) Amangry
36.1 have come to know of your hole-and-corner methods of dealing with people
(1) Suspicious (2} Secret (3) Servile (4} Strict
17.To be in dribs and drabs
(1) Without fail (2) With much case
(3) In small quantities (4) With great difficulty
18, To pick holes -
(1) Find some reason to fiZht (2) Destroy something
(3) Criticise gpmeonc (4) Lut some part of an item

(10) (Cuontinued)
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Direction : Choose the one which can be substituted for the given word/senlences
in the following questions (Q. 39-53) :

39.0ne who sacrifies his life for a cause :

{1 lll-'al.rint (2) Martyr (3) Soldier (4) Revolutionary
40.A person wha locks at the dark side of cverything

(1) Sadist (2) Blind (1) Pessimist (4) Oplimisi
41.A person who eats too much -

(1} Glutton (2) Reveller {3} Sensualist (4) Cinnivore

41 Talking disrespectfully of sacred things is called -

(1) Blasphemy  (2) Heresy (3) Atheism (4) Apostasy
43.Killing of one's own brother ;
(1) Suicide (2) Matricide (3) Fratricide (4) Genocide

44.Choose the nearest synonyms of 'DEXTERITY":

(1) temerity  (2) skill (3) dissstrous  (4) deceny

45.Choose the nearest synonys of 'TMPLORED' -

(1) told frankly (2) refused bluntly
(3) requested eamnestly (4) denied flay
(11)

(Turn Mver)
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46.Choose the nearest synonyvms of "INSINUATE'

(1} sinful {2) pierce (1) perilons
47, Chowse the nearest synonyms of TNTREPID':

(1} brave (2) hungry (3) polite
48.C huose the nearest synonyms of 'HOODWINK .

(1) pacify (2) deceive (3) believe
49.Choose the nearest antonyms of TNDICT :

(1) cxonerate (2) cross-examine  (3) respond
5i.Choose the nearest anlonyms of 'KINGLY™:

(1) lowly (2) magnificent (3) royal

51, Choose the nearest anlonyms of 'ELAN

(1) brashmess (2 digmty (3) composure

51.Choose the earcst antonyms of 'MACABRE':

(1) ugly (2) lovely (3) extravagant

(he nearest antonyms of PRAGMATIRM':

(2) favouritism i3 pppurtumsm

§3,Choose

(1) idealism

(12)

(4) suggesi

{4) stupid

(4) achieve

(4) prevail

(4) absurd

(4] nervousness

(4) unholy

(&) militarianism

(Continued)
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Diirection :Read the passage. Then answer the questions below :

Most human beings are awake during the day and sleep all night. Owls live the opposite
way. Owls are noctumal. This means that they sleep all day and stay awake at night,
Because owls are nocturnal, this means they must eat at night. But finding food in the
dark is difficult. To help them, they have special eyes and cars, Owls have very large
eyes. These eyes absorb more light than normal, Since there is little light during the
night, it 1s helpful to be able to absorb more of it. This helps owls find food in the
dark. Onwls also have very good hearing, Even when owls are in the trees, they can hear
small animals moving in the grass below. This helps owls cateh their prey evenwhen
it is very dark. Like owls, mice are also noctumal animals, Mice have an excellent
scnse of smell. This helps them find food in the dark. Being noctumal helps mice to
hide from the many different animals that want to eat them. Most of the birds, snakes
and lizards that like to eat mice sleep at night — except, of course, owls |

34.Based on information in paragraph, it can be understood that an anima)l with
small eyes :

(1) must be diumal (2) has trouble seeing in the dack

(3} can see very well at night (4) is likely to be eaten by an owl
33.According to the passage, owls can find food in the dark uSing their sense of

(i) sight '

(i7) sound

(£} smell

(1) () only — (2) () and (it) only

(3) (i) and (iii) only _{4) (00 L) ang (117)

(13)
(Tierm Over)
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56.Based on information in the paragraph, it can be understood that mice sleep
during the day in order to :

(1) find foed that other animals cannot
(2) keep themselves safe
{3} store energy for night time activities
(4) release stress
57, Based on information in the paragraph, it can be understood that
(1) owls hunt mice
(2) mice can hide from owls
(3) mice and owls both hiﬁe from birds, snakes and lizards
(4) birds and snakes often hunt lizards
Direction :Read the passage. Then answer the questions below :

L] " o r [hu
"Third class tickets are not booked so carly.' | went [0
Td\'fm we W'EI'E lﬂl‘dr ; . |
Al F%u i He lso gave the same reply. As Smn.ﬂ thﬂ hmkmgmndn? -::!]:-:ned_
ﬂéh::lwas right and passengers, ahcad of others and indifferent o others.;coming one
mig :

G I W ﬁlﬂtﬂﬂm‘ﬁ, ut ﬂ:l.ﬂ. ‘Hﬂ ﬂfth.:- 15l
€T E‘i'lmﬂﬂd 1o pl—ﬁll me out. I a5, E-b'ﬂ | i

' b
crowd to et alifi’i""i;'-ﬂm1 getting intoit was another trial. 1 Went to the Hu&ﬂ] He said.
The train armve next irain. Much against my mind. |

the
wou must try to g€t in where you can. ortake

(Continued)
(14)
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ot into an inter-class compartment with my wife. The guard saw us getting in. At
Asansol station he came to charge excess fare. | said to him, "It was your dut;.t to find
s room. We could not get any, and so are sitting here." "You may not argue with me',
said the guard, T cannot accommodate you. You must pay the excess fare or get cut.
L wanted to reach Pune somchow, so [ paid the demanded excess fare, but resented
the injustice,
8. The author had to pay excess fare because -

(1) The guard had seen him entering the inter-class compartment

(2) He was travelling by a class higher than the one he was entitled 1o

(3) He intended to travel up to Pune

(4) The third class compartment were crowded
59. The author travelled by inter-class because

(1} inter-class compartment was comfortable

(2) inter-class compartment was not crowded

(3) he could not get into a third-class compartment

(4) the guard charged him the inter-class fare
60. The author could have casily purchascd tickets if;

(1) He had decided to travel by inter-class

(2) There were two booking windows

(3) There were fewer passengers

(4) Therc Was a proper queye System at the booking windgw

(15)
(Turn Over)



16U/M17/22 (1)

61. How many stations are mentioned in the passage ?

(1) One (2) Two (3) Three (4) Five
61.1'ind the number of factors of 1080 ;
LORD % TporRl <t wwm &amd
() 32 (2) 28 (3124 (4) 36

63.For 70 students. the mess bill for 12 days is Rs. 7,000 In how many davswill the
mess charges he Rs. 4,900 for 8 sidents 7

(1) 20 days 12) 21 days (3) 22 days (4) 23 days

20 w1l 3 fom, 12 farll 3 o, W = farer 7,000 573 3 | Farert fotl i & o & fomn
4900 %, %1 ¥ire fam g 7

(1) 20 %A (2) 21 f& (3) 22 feit (4) 23 T

64. A man donaled 6% of his income 1o a charity and deposited 20% of the restina
Bank. If he is left with Rs. 14,100 then his income is :
uﬁ.aﬁﬁlﬁm#@mﬂmmﬁ%ﬂmmmmﬂm%m‘ﬁ
o ¥ ¥ o R e | A T I 14,100 7 3 & A Teh @ TR

(1) Rs, 18,000 (2) Rs. 18250 (3) Rs. 18,500 (4) Rs. 18750

65.1n a class the ratio of boys and that of girls is 11:9, 30% of the boys and 20%
: passed. Find the percentage of passed students of the class :

of the giﬂ;%l}ﬂ?@ﬁiﬂmw 11:0 % | 30% T 3ftt 20% wrefénat 3 B

SR ;
e 3 e 1 s v
(1) 23.5% (2) 24.5% (3 28.5% (4] 25.5%

(16) {Continued)
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6. The profil made by a merchant in selling 5 meters of cloth was equal to the price

of 2 meter of the cloth. Find his prafit percentage :
wF = S5 e W A=, 2 Ui w92 % g suet o atfaa fean | 3aE
e wfdere wend -

(1) 60% (2) 66.6% (3) 50% (4) 40%

&7.Ramu lent Rs. 2,800 to Suresh at 2% per annum at simple interest. After 5 vears,
Suresh r!:'pmd the debt lﬁg; E,wing a {:j-’{:l{z and Bz, 2,500, What 15 the value of the
cyvele 7

WA HW w FE 2,800 9f 9 2% @ = W s G | S o % e,
gt e Fefehet 3 T 2,500 3 F g | mmfe o ey wn # 7

(1} Rs. 590 (2) Rs. 600 (3) Rs. 5380 (4) Rs. 420

68.0ne pipe can fill a tank in 40 minutes an outlet pipe can empty the full tank in
24 minutes. 1f both the pipes are opened simultaneously, what time will it take
for the full tank to be emptied ?

{1} W minutes  (2) 60 minutes {3) 15 minutes (4) 45 minutes

T N O T A 40 fore d wiwwm £ A P e g 3 24 fr B
ﬁflﬂﬁ?ﬁmﬁmﬁﬁaﬂ%,ﬁ@ﬁﬁgﬂ'm%%ﬁ%ﬂ;

(1} 30 BRe (2} 60 firz (3) 15 form (445 fime

69.In a fort, there are 1500 soldiers and they have provisions
soldiers leave the fort and the remaining soldiers increases

by 50%, for how many days will the provision last 7
¥k

for 90 days, If 600
their consumption

o fet 4 1500 e TR 90 e & i - A

Sl : * 132 600 dfis

Maﬁi@_ﬁiﬁﬁﬂhﬁﬁﬁ mﬁqﬂﬁiﬂxﬁﬁﬁﬁﬁgeﬂm.mﬁﬂi
(17)

'[_TI-I'J".I‘I Cher
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70.How long will a train of length 250 meter running at a speed of 108 km/'hrs take
to cross another train of length 350 meter running in the same direction at a
speed of 18 km/hrs 7

(I) 15seconds  (2) 21 seconds (3) 24 seconds (4) 18 seconds

o e o T 250 siet & s ey 108 Reeinde af e # 0 350w
et foreefy Ry 16 ft 2 2, = Feet wor om0l 7

(1) 15 H%E (2) 21 #he (3) 24 H%z (4) | & ®hz

71.Ravi earned a sum of Rs. 10,800 and donated 40% of it to charity. He gave 15%
of the remaining amount to Ramu. After giving 25% of the remaining amount (o
Anita, he deposited the rest in a bank. How much money did he deposit in the
bank ? _

i 10,800 w5 i it 3arka fem 3l 40% 1 5@ 2 3 fn ) T4 3y T
159 i & T ) i off @ 25% w91 S % e w4 O o e

e | o # Rran %, w T e 7

(1) Rs. 4,000  (2) Rs. 4,311 (3) Rs. 4,131 (4) Rs. 4,300

72 Which number is like the given set of numbers 7 (2, 13, 61)
Sy P e R aw e 7 (2,13,61)

(17 (2) 123 (3) 101 (4) 20

ot age is 2/5th of the age of his mother. Afier 8 years, he will be

73.A person's prese .
one-half of the age of his mother. How old is the mother at present ?
) s @) Fyes O dyears  (4) 48 years
{Conrinucd)

(1%)



16UM17/2241)

wm‘mﬁaﬁmmmmﬁm#ymtnamaﬂm,ﬂm:ﬁﬂﬁ:m
mmﬁmmfﬁmhnmgmi?

(1) 32 (2) 36 = (3) 40 i (4) 48 a4
74.How many bricks of 20 cm « 10 cm will be needed to make the floor of a room
25 m long and 16 m wide 7

25 wiex v ok lﬁlﬁﬂ'ﬁﬁiﬂﬁ}ﬁ'ﬁﬂﬂﬁﬁfﬁqlﬂ¢mﬁﬂlﬂlﬂcmiﬁfﬁﬁ
et &% wrleft 7

(1) 20000 (2) 22000 (3) 18000 (4) 21000

75.The arca of the four walls of a room is 660 m* and length is twice the breath,
the height being 11 m. Find area of the ceiling ;

(1) 180 m? (2) 200 m? (3) 300 m? (4) 250 m?

ﬁﬁﬁmﬂmﬂmmﬁﬁﬂmjtaﬂwhrﬁﬁ i :
2 | B 7% 7 =i - mmgim”ﬁm

(1) 180 91 (2) 200 = (3) 300 =i

(4) 250 oys
76 ;ﬂp;ﬂl?h? m Wide surrounds a circular lawn 252 m in diameter Find the ape, of
(1) 5698 m? (2) 63589 m? (3) B596 m? (4) 9685 i
;:a;}maa ?ﬂaﬂmw:mmmﬁmﬁhmt (TR0 57 e
(1) 5698 i (2) 6589 4 (3} 8596 A (4) 96g
3 &

(19)
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77.The outer measurements of a closed wooden box are 45 ¢m » 32 cm = 28¢cm, If
the box is made of wood 1 em thick, what is the capacity of the box 7

(1) 33500 em®  (2) 33500 cm’ (3) 33540 em? (4) 33540 em’

s 82 AHE1 % T o 4Rl M 458 o 32Eh . 288 ¥ Fﬁ“’h’ﬁﬁm
| e A 2, 9 W R

(1) 33500 & (2) 33500 & (3) 33540 @ (4) 33540 &

78.An inclined ladder, 10 m long, reaches a window & m above the ground. Find
the distance of the oot of the ladder rom the basc of the wall :

(1) 4m (2) ém (3) Tm (4) 5m

% an#gﬂﬁﬁ!ﬁﬂ,m#maﬁﬂﬁmm@hfmﬂ%m
ﬁﬁsf.?ﬁiﬁﬁ?qurﬂt:

(1) 4@ (2) 6 WX (3) 7 #ex (4) § e
70_The number having no reciprocal is :
i) R et T L
(2 (2) | (3)-3 (4) 0
40, The averagt 3&¢ of two brothers is 9 years, [t is increased by 9 years when their
.mmhr,r‘s age 13 also included, then the age of mother is :
g yelld (2} 36 years (3} 37 years (4) 38 years
(1) 3> YR
{Cmnm.ud“p

{20
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AW M W mTE T Aimdidesd @i G wm A oavi

(1) 35ad (2 36 (3) 37 (4) 38 @

81.1f three-fourth part of a post is under water, then what percent is above water ?
afs vk wgE = FE-<ard wm oe 3 2 R, 9 egd = Feen afime T | EW
k7

(1) 25% (2) 30% (3) 40% (4) 50%

82.1000 tickets of a lottery were sold and there are 7 prizes on these tickets. If .Y
has purchased one lottery ticket, what is the probability of him winning a prize ?
a2l % 1000 Re= 33 M 3R 7 9l @ T g # | ol Yow i e @l
¥, M 3u quean e ) wEd f g v

(1) % (1) 77100 (3) 771000 (4) 70%

83.In a certain code language, '479' means "fruit is sweet'; '248' means 'Very sweel
voice' and '637 means ‘eat fruit daily'. Which digit stands for 15’ in that code 7

()7 2)9

(3)4 (4) Can't be determined

84.4 walks 10 metres straight and then 10 metres to the
turning to his left, he walks 5, 15 and 15 metres respect;
trom his starting point ?

Bt Then eyery rime
Vely. How far is he now

(1) 7m (2) S m (3)3m

(21}
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A4 T 10 e wem @ B 10 it ot wem B | feem e s w0 s R
5,15 $ 15 it 6 g0l s 5em B | =8 aw gee fag & o R gl w ‘%

(1) 7 e (2} 5= (3) 3 iz (4) 1
85.8,0,6,24, 60, ... 210.
() 117 (2) 119 (3)120 (4) 126

86. Find the missing number ;
R B T R

18 1 24 | 32

12 ] 14 ] 16

i o4

172 | 12 [128
i1 2 (2) 3 (3)4 (4) 5

87.1f P denotes -, O denotes «, R denotes + and S denotes —, then the value of
180120 4R 3 E.ﬁ when simplified gives :

af pay o -, QF B« R R+ sl S wd R -, W9 18Q12P
4‘[{55&%%@@*
(1) 36 (2) 53 (3) 59 (4) 65

o toll together and toll respectively at intervals of 6, 5T, 10
[-]nw many times will they toll together in one hour excluding

g8, Five be ells begin |
and 12 secon ds.

e one ot besat e 296,57, 1030128, Sime H A At # |

Eﬂ;ﬁm:ﬂmﬁﬁﬁmmma—mﬂﬁ'ﬁ 7
(117 (2) 8 (39 (410

(22) (Contirned)
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89.In a row of girls, Kamiya is fifth from the left and Preeti is sixth from the right.
When they exchange their positions, then Kamiya becomes thirteenth from the
left. What will be Preeti's position from the right 7

(1) Tih (2) 1lth (3) 14th (4) 18th

s fat 4t w9t F Ffrn ard 2 w7l ity i = & o w o R ) e R ey
mﬁmmﬂﬁsﬂmﬁ?ﬂi.ﬂmﬁwa@%ﬁmﬁﬁlmﬁs Lol | if 1 Eaf
w1 Bhft 7

(1) 7 & (2) 114 (3) 14 f (4) 18

90.Sunita ranked 1| th from the top and 27th from the bottom in a class, Tow many
students are in the class ?

USRS TR BVE £ BUE v S P S——— | i A e R
e ¥ 7 _

(1) Abandon (2) Actuate (3) Accumulate  (4) Acquit

92.4 and B are brothers. C and D are sisters. A's son is s brother, How is 8 related
o(?

(1) Father (2) Brother (3) Grand Father (4) Unele

Aiﬁtﬂ‘ﬁfilﬂmﬂlﬂt1dmhﬂmﬂ§;3mfamm%?

(1) T (2) W§ (3) 7w (4) ¥y

23
t tTi-I'ﬂi Eh.rgr]
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93, Five boys 4, B, C, D and £ are sianding in arow. 4 is between C and D and B is
between D and E. Which of the following pairs represents the bays standing al

both the ends 7

o @2 A, B, C, D #w E wh ufn 4 @3 R

Dt E ¥ dte pae # | o= i 3 9 | e
Fa g

{1y C,18 {2y E.C

{(3)E.A

| Cor DFEdad Aum R W
e full @ @e el 1 gt

94,11 NARGRUED is the code for GRANDEUR, which word 15 coded as

SCRPEVRE?
¥ GRANDELR # %18 NARGR

(1) PERSEVER (2} PIREHE]WE (3) PERSERVE

95, Stalements
(f) Al hirds are dogs.
(i) Some dogs are cals.
(onclusions:
(1) Some cats are not dogs.
(i) All dogs are not birds.
(1) Only (i) is pmplicit
(2) Only (i) is implicit

(3) Both () and (i7) are implicit

(4) Neither (i} 10T (ji is implicit
(24

UED & 4t SERPEVRE 1 %re 71 g 7
(4) PREVERSE

TR rrigied }
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%6. Statements :
({} Some cars are scooters
(i) Some sr;mturs are not calculators
Conclusions :

* (f) Nocaris a calculator
(21} All cars are calculators
(i) All scooters are cars
(iv) Some scooters are cars
(1) None follows
(2) Only (i) or (i) follows
(3) Only (i) follows

(4) Only (and (iv) follow

97. Average family income is right where it was 20 years g0, even though in mest
families these days, husbands and wives are working,

The above statement imgplies all of the following except

{1} Even though nominal family income may have increased,

inflati '
i o 101 has riseq,

(2) More hushands and wives are working today than 2() years agg

(3) It was more prevalent for ope Pouse to work 20 years ago than fody
¥

(4) Wives earn more than hushapds 1oqy

24
2t (Ziernr ¢ hppy
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98.'Cven since 1 arrived at the college last week, ['ve been shocked by the poor
hehaviours, of the students and the unfriendly attitude of the townspeople, but
the professors are very erudite and genuinely helpful, Still, [ wonder if ] should
nave come here in the first place.

Which of the following, if true, would weaken the above conclusions ¥

(1) Professors are not always helpful
(2) The college numbers aver 50,000 students
(3) The college is far from students’ homes

(4} Mot all professors have doclorates

99 Five hovs took part in a race. Raj finished before Mohit but hehind Gaurav. Ashish
Finished before Sanchit but behind Mohit. Who won the race

(1) Ray {2} Gourav (33 Mohit {4) Ashish

g9 wrewl 3 W 2g # wm ferm | 7 Ak @ e, &P ha & ang A gt W
ﬁmnmiﬂiﬂﬁﬂﬁ,ﬁﬁﬂmﬁﬁﬂmmﬁm | e e <mm -

(1) A (2) it (3) HifEa (4) it
100, Arrange the following in a meaningful sequence of cvents:
(a) Consultation
() Iliness
(¢) Dostor

(d) Treatment

{Continuzd]

(26)
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(1) (b). (<), (a). (d)
(2) (). (), (), (a)
(3} (), (c), (a), (B)
(4) (@), (d), (c). (b)

101, A train always has

(1) Engine (2) Rails (3} Driver (4) Passengers
e AR R R
(1) 5fi (2) &= (3) =T (4) weh

102. Who s the author of the book 4 Judge’s Miscellany 7
(1) Justice H. R, Khanna (2) Justice M. Hidyatullah
(3) Justice Dalveer Bhandari (4) Justice Denings
A Judge's Miscellany % Bas 4 -
(1) &8 @, o, g (2) wfeem o, Rgrggy
(3) wifrem el szl (4) wfem g

1ﬂ3-;it:;:léﬂ1ﬂi:ﬂ?“ ;::!\!:’:Im;"mn of India is the fg,, laid dowp by

(1) Article 32 (2) Anticle 14) (3) Article 224 (4) Artigge "

(27
‘ (Fiirn ¢ Iver)
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uma & dfgum & fee sEec § g waEE STERTE yfarie
ATl & S anawr w7 i i =
) sEsRsz (DeEeatlal (3) dssR2l6 (4) eI

1041 nder Muslim Law, marriage is regarded asa ;

(1) Sacrament (2) Contract (3) Socialneed  (4) Tradition
yafan fafa & w=id forame &
(1) HEhm (2) wd (3) i WA (4) ST

105, Right totravel isa fundamental right under :

(1) Article 19 of the Constitution {2} Article 21 of the Constitution

{31 Article 15 of the Constitution  (4) Article 14 of the Constitution

qﬁmﬁﬁnmﬂ@uhmﬂﬂﬁmmﬁrﬂ;ﬂﬁﬂﬁﬁmﬁﬂmt:

(1) 3% 19 (2) s=ae 21
(3) 3% 15 (4) e 14

106, Impeachment of President of India can be initiated in

{1) Either hous¢ of Parliament

(2) Inajoint sitting of both houses of Parliament

(2%) {Cantimeed)
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wirE % ety s werfiEin g fen W owem
(1) wws % fomelt wemr
(2) wwm, i 3H1 w i afm e
(3) & ww A
(4) oo wwr A
107. Directive Principles of State Policy aims at ;
(1) Ensuring individual liberty
|2) Ensurc in strengthening the country's independence
{3) Providing the social and economic base for country
(4) Achieving all these objectives
= i & v At w e b
(1) =ferma Taaa FRfF s
(2) %0 <} TN T Gy gfifew wen
(3) & 6t wrfors wE il sqar dam we
(4) 3 Tt Sl Y M ey

{ zq } {_r!..rrr,r
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108, Advisory jurisdiction rests with

(1) Subordinate courts (2) High courts

{3) Supreme court (4) All the courts
HeATEEN e g # -

(1) i =rmem % = (2) 3 = & 9H
(3) F=9 e & 9H (4) =i =R & mE

109, How many languages arc recognized in the Eighth Schedule of the Constitu-
tion ?

Fes sl @) afaa ) s eEh 3 e e E 7
(1) ¥ (2) 10 (3)18 (4) 22
110, According to the Preamble to the Indian Constitution, which one is not true 7

(1) Sovereign (2} Democratic (1) Socialist (4) Nationalist

Wﬁﬂﬁﬁmkmwaﬂaﬁi?

(1) w7 (2} Mo (3) HHTETE) (4) mgar

111, Which writ can be filed o release a person from illegal detention ?

o

(3) Prohibitied (4} Cuo Warranto

(30) [ Comrinued)
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w1 w afew arda firan & v s 91 fe e g 6 9T A R 7
(1) ¥fra Fnfa (2) B=d7m
(3) siiefa (4) Br-am=2t
112. Who was the President of the Constituent A ssembly 2
(1) Dr. Rajendra Prasad (2) Dr. B. R. Ambedkar
(3) Dr. Sarojini Naidu (4) Mahatma Gandbi
BlEH 7 F e e Y 7
(1) 3T, = oy (2) &1, 0, m, sz
(3) 57, F0fef g (4) waTen T

113. Which of the following is not a fundamental right ?

(1) Freedom of speech (2) Right to life

(3) Right to equality (4) Rightto work

¥ 8 B wifers sefrmm i 2 7

(1) atert & wem (2) Sta 1 gy

(3) e w7 ferew T s
(31)

[Tw"ﬂ fj‘l-'fr;l
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114, Which one of the following right is a Constitutional rights but not a Funda-
mental Right ¥

(1) Right to freedom of expression (2) Right to frecdom of religion

(3} Right to property (4} Right to move freely

ﬁﬂﬁﬁﬁqmﬁuﬁmﬂﬁmﬁﬁﬂmﬁﬁlﬂfﬂﬂﬁi :

(1) sHfeates 1w 1 HE (2) ) T A

(%) e = s (4) AR & T & B AT
115. President of India can make laws during recess of Parlizment through —

(1) Statutes (2} Ordinances (1) Bills (43 Notifications

m%@uﬁ——ﬁiwﬁﬁm%m?ﬁﬁm FT w1 T 7

(1) afafi (2) T (3) Far (4) s

116, Who among the following enunciated the ‘Doctrine of Rule of Law’?

(1) Ronald Dworkin (2) Salmond

(3} A V. Dicey {4) John Austin

ﬁqﬁﬁgﬁﬁﬁfﬂﬁﬁfﬂ'ﬁw#fﬁzﬁamuﬁmm%?
(2 AreE

(4 i A

{“f‘lﬁﬁﬁ‘fﬁﬂﬂ

(3} 1 ot

(( ontinned)
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117. Criminal Law (Amendment) Act, 2013, does nol provide that ;
(1) A rape convict can be sentenced to a term not less than 20 years
(2} Death sentence to repeat offenders
(3) Stalking and voyeurism are bailable offences
(43 Acid attack convicts can get a 10-vear jail term
W FA (B sfiufem 2013 oo 18 w5 :
(1) U semen & 2 %t zumﬂmﬂuﬁmqﬁwmmg
(2) wrfirat & s i gl @ i 6 g
(3) fien &0 sl g s s 2
(4) ufFs T )i 5 LT ) S < fre et 2
M8 u India, Unitorm Civil Code is applicable in the State of -
(1) Goa (2 Nagaland

(3} Jammu & Kashmir (4) Maharashypy
mﬁwam#&m#ﬂmﬁm% ?

(1) ham (2) Fmete (3) 79 vd Ty

(4) mEmm
8. Daminum sine infuria means damage williout inj
; : ry to |
sine' means which of the following 7 %4l right. Hence
(1) Withows ~ {2) Legal {3) Right .
(1
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Dammnam sine injuria % wae & s s e F e arfa | Fmfariian @
W sine' T OaEE B 7

(1) Without  (2) Legal (3) Right 4) To
120, Pacta sunt Servanda’ means that :
(1) The States are not bound 10 respect the agreement enterad into by them.

(2) The agreements entered into by the States will be respected and followed
by them in good faith.

(3) The states aré under no obligation to follow the agreements in good faith.

(4) Through the Qtates are hound to recognize an agreement entered into by
them but cannot be completed to follow it.

121, What is Plea Bargaining
(1} A conference belween ppposing lawyers and judge to determine the tume a
case should take place.

(2) A pmccduﬁ py which an accused pleads guilty in exchange for a lesser

pumsh'“ml

(3) A conference between the opposing lawyers 1o settle the claim.

4y A conference between (he victim and the accused to settle the claim.

on who willingly aids or consent :n an activity, especially a criminal

A perse
122.A P calied

aci.'i‘-.'il.} IS
(1) Accessery ) Ancittry () IR (&) Fait ascomph

(34) {Contiread)
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113, Fox populi means
(1) A famous personality (2) Popular opinion
(3) A very popular drama (4) Group of peoplc
124. Criminal or suspect on the run is called -
(1) Grass (2) Apache (3) Fugitive {4) Accomplice

125. A right to recover time barred debt s :

(1) Universal Right (2) Perfect Right

(3) Imperfect Right (4) Fundamental Right
I i oor w5t s

(1) arithe sifim § (2) i sHfirmn

(3) 3 i (4) 951 i

126. A person 'dying intestate’ means he -

(1) Died without lepal heirs (2) Died without mﬂkmg awill

(3) Died without any property (4) Died without a sgp

127. De jure means -

(1) Outside the scape of (2) Bussevas of fgy
(3} By virtue of law - A O e
(33}

(Turn Over)
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128. 'Malfeasance’ means

(1% Mean mentality (23 Ugly situation {3} Misfortune (4) Wrong doing

129. A puisne judge of a High Court is -

(1) A judge other thana Chiel Justice  (2) The Chiel Justice

(3) A temporary judge (4) A retired judge

130. What is the meaning of chattel 7

(1) Any property (2) Immuovable property
{3) Movable propetly (4) Cattle
131. Fiduciary celationship is relationship based on ;
(1) Contract () Trust
(3 Blood relatonship (4) Money
132 A hushand and wifie havea right toeach other's company. This right is called .
(1) Matrimonial right (2) Consortium right
(3) Marital 122 (4) Conjugal right
{33, The bmk'{jtmctpt af] aw was written by -
(1} luaﬁcc!{ﬂshna byt {2y 11 LA Han
(3) Ronald [y orhin (4} 1 lemry Maine

{ 30) {I:m':liilim:nﬂ
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134. lexi fori means :
(1) The law of the place
(Z£) The law of the court in which the case is tried
(3} Law of the place where the contract js made
(4) None of the above

135. Who described jurisprudence as lawyer's extroversion ?

(L) Savigny {2) Salmond {3) Julius Stone (4) Buckland
Mﬁﬁmaﬁﬁﬁ:mﬁmﬁiﬁrmﬁha#mﬁaﬁnﬁma 2
(1) #fReft (2) wvE Q) A== (4) g

136. PRINCIPLE : Everybody is under a legal obligation to take reasonable cqpe to
avoid act or omission which he can foresee would tmjure his neighbowr. the

neighbour for this purpose is any person whom he should have in his mind as
likely to be affected by his act.

FACTS : Krishna, while driving a car at ahighspeed in acrowded road, knocked
down a cvelist, The cyclist died on the spot with a lot of blood spillin £ around;
Eesha, a pregnant woman passing by, suffered from nervous shock, }E:mlin;:__rr_
to abortion. Eesha filed a suit against K rishna claiming damageg

(1) Keishna will belisble, because he owed o duty of reasonable care 1 oy
body on the road including Eesha, ry-

{2) Krishna will not be TEETB'.HM could not havea fores
suffering oM NEVOUSShack as g resype o pic act, o0 Sy

(37)
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{3) Krishna will be liable 10 Eesha because he failed to drive carefuliy.
{4) None of the above,

[37. PRINCIPLE : A master is liable for the sets commitied by his servant in the
course of employment.

FACTS - Mahesh was a driver working in acompany Liptonand Co. One day. the
Manager asked him to dropa customer at the airport and pet hack at the earliest.

Un his way back to the office from the airport 10 complete a delivery, he
happened to see his fiancé Roopa waiting for a bus to go home. He offered 10
drop her at home, which happened to be close to his office. She got inlo the car
and soon, therealler, the car somersaulted due 1o the negligence of Wahesh.
Roopa was thrown oul of the car and suffered multiple injuries. She sought

compensaion from Lipton and Co.

(1) Lipton and Co. shall he ligblz, because Mahesh was in the course of employ-
ment at the time of accident.

{2} Lipton and Co, shalinot be liable, Mahesh was not in the course of empoy-
ment when he took Roopa inside the car.

i3) Roopa got into the car at her own risk. and therefore, she cannol s

anybody.
(4) Noneofthe above.

138, PRINCI Pl E : Aminoris ot competent toenter into a contract and the law will
| assume Tt {he contract never happened and everything will be restored 1o its

uﬁgiﬂﬂlpliﬁiﬂﬂﬂ-
FACTS @ A minor girl fraudutently migrepresenting her age entered into a
: -

(38) (i prrinedd)
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contract with other for the purchase of an expensive bicyele. After the bicycle
had been delivered, she refused to pay price for it and argued the non-existence
of a legally binding contract.

(1) The contract is vaild and binding against the minor as the minor has mis-
represented her age knowingly.

(2) The contract is voidable at the option of the other parly and thus the minor
is liable to pay if the other party wants to carry out the obligation,

{3) The contract is void ab initio and the court can direct the minor 1o real.me,
the bicycle to the other party.

(4) The contract is valid and the guardian of the miner will be liable 1o pity for

the bicycle.

139. FRINCIPLE : A contract ceases to exist when its objective becomes impossible
to achieve,

FACTS : Sunil entered into a contract with Suresh for sale of a dog which, at
the time of entering into the contract, was dead without the knowledge of both
the parties. Consequently, Sunil could not sell his dog as per the contracy

(1) The contract s void as its objective is impossible 1o achieye

(2) The contract is valid and Sunil is liable for breagy

ﬂgﬁsﬂ‘ﬂj‘ns 1
m“'[

{4) None of the above.

(39)
fT!-.IT‘n ﬂ‘ﬂgr}
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1410,

141.

PRINCIPLE : No person accused of any. offence shall be compelied to be a
witness apainst himseli.

EACTS : Bureau of Investigation ofien usc intravenous barbiturales for interro-
wakionn, A snilitst X whe wae the only attacker captured alive by police was
subiected to such harbiturates, namely, truth serum and was interrogated. The
effect of truth serum is such that it forces the subject to speak the truth
prrespuctive of whether be wants i or not. Was such an action agamst e

principle ? Decide.

(1) Nu, bevause ¥ gave the answers himsclf

{7y Yes, because A adno clioice but o answer the guestions pused t him.
(3) No, because ¥ had noneed to ansyer (he juestions usked of him.

(4) Yes. because the serum forced X to answol truibfurlly even if he did nu
want 1o and make him a witness against himsell.
PIINCIPLE © Every citizen shall be treated eyually before the law. The Stale

shall not discriminate againstany citizen oil arofils of religion. Fce. Cashi

S0

Pradeshisa backward region where the state of women was pitiikle

. sere riat alle L4 o po 10 work, abuse was campaiit and (he o
Worner * o women in this State weere highest i the country. To improve the
! ¢ State decided to provide for reservation of worien in

FACTS 4

riles :,_LEill
prwomen.

oiluatdl i L :
et educational sttt

JoyerTmen i : s
E;j. o appvation was chaltenged on the rows of Vioidinnge e vl e
Py T o
ity of men. ¢y the challenge be suceEssIoN
:'[:Hl'l! . -

i1 irmtenpiedd

[ 40
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(1) No, as the women in 4 Pradesh did not have equal rights as of men and the
State could make laws for the benefit of women to uplift them to an equal
slatus,

(2) Yes, as the State could not discriminate against anyone on the basis of sex.

(3} No, because providing for education is not discrimination,

(4) Yes, because women belong o the kitchen,

142. PRINCIPLE - Restricting someone’s movement in such a manner that he cannot
leave on his own will amounts to unlawgyl detention,

FACTS : 4 goes to a bank and robs it. He runs away with the money anq hides
n his house. The police get to know and come searching for 4 they arrest him

and put him in jail.
(1) A has been unlawiilly detained,
(2) A isnot unlawfully detgined,

(3) 4 is not unlawfully detained as he Canescape on his i

(4) 4 is notl unlawf; ully detained as it is ﬂwmliummm him in jai
Jail,

143. PRINCIPLE : Whenever an offence has heen committed, w} ek
conceals a person whom hckm}m or has reason i hcﬁe-.re b arboyre or

with the intention :::[‘.n..:mm-_rmghim ﬁﬂm I p
FACTS : Abhinav and Anim,
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whiskey as the two friends were used (0 drinking together. After a few drinks,
everyone was jolly and Animesh asked "What arc we drinking for 7' to which
Abhinav replied T just robbed 2 bank' at which both friends started laughing and
Animesh said 'good one’. Afler a few inutes the police came and arrested
Abhinav. 1s Animesh guilty of harbouring & fugitive ? Decide.

(1) Animesh is guilty because he knew Abhinav robbed a bank.
(2} Animesh is not guilty as he was drunk.

(3) Animesh is not guilty as he thought that what Abhinav said was a joke and
did pot take jt seriously.

(4) Animesh i guilty because in spite of his knowledge that Abhinav had
robbed 2 bank he kept drinking with bim.

144, PRINCIPLE: Preparation is not an offence except the preparation of murderif

ihe preparatiof IS for that specific offence of murder which eventually takes

place.

'  + hie house, wishing to kill Binoy
C[S:Rmmﬁwﬂkﬂpﬁpmsmﬂﬂhaluamh@ ,wishil
. vited 1o a pasty and t0 whom he wishes to give it Unknown t0

he in
i his ml}'mnukcim:hﬂumd dies.

(" ameshwar is lisble for the murder

(2)He's aot liable for murder

(3) He s iable for culpable homicide
killed his son

(4) Heis ligble pecause he <hauld not have
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145. PRINCIPLE - (i) If any person commits suicide, whoever abets in the
commission of such suicide, shall be punished with imprisonment of either
description for a term which may extend to 10 years, and shall also be liable to
fine,

(1) A person abets the doing of a thing, who intentionally aids, by any act or
illegal omission, the doing of that thing,

FACTS : SKR was a famous Bollywood star who acted in a lot of movies and
made a huge amount of money. There were a lot of rumours in the film industry
that SKR was a notorious womaniser and had illicit relationships with a lot of
female co-stars. SKR ofien dismissed all these rumours i public saying that
he was a happily married man and all of'this was just ways adopted by the mv.;d;'a
to tarnish his image, During the filming of a movie Kerafy Express, SKR was
photographed by a Photographer of the Lives of India (a leading £0S8ip news.
paper) kissing his co-star CP The Lives of India published thjs '

article. On reading this, SKR committed suicide by Jumping off the roof, is BR
euilty of committing abetmenmfsuicidc, Decide,

(1) BB is guilty of abetment of suicide,

(2) BB is not guilyy of Kuici

de as he was not aware SKR w
drastic swepr - s

(3) BB .js 1nm‘ guilty .lma.u.“ his act of publishing ¢, € Story e i
toaid in the SKR's suicide, Nlendeq

(4) BB is not guilty DECAUSE je did not commit tevy 41 or omjy 04,
any dcf

(43)
{?mw 'f}l'P.r}
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1 46. PRINCIPLE : Causing damage 10 someone's body resulting in any permatient
damage or mark amounts 10 hartery.

FACTS : 4 and R go o a bar and order whiskey, 1 finishes his whiskey guicker
than 4 and mocks him, Laughing along with B, 4 tries to give B a congratulatory
high five, He misses the hand and hits B in the face which results in a small cut
above his cye. B goes to the docter who tells him it is justa minor ¢l bt is deep
and will leave ascar. R poes to the police next and files a case of battery.

(1) A is liable for hattery
{3y 4 isnol liahle for battery
(37 A is not liable far hattery s he was drunk

(4} A isnot lable for batlery 43 there wis no {tention on his part

147. FRWCWLEE (i) Wo peson ghall be de:pri\-'cd ol his life or pL‘:r‘Sﬂnﬂl libert)

-cording 10 procedure established by 12w,

yeeph acs
(if) Whoeves ot murder shall be punished with death, ot jmprisenncn

for tile, and shall also be liable 10 fine.

T ACTS Don was an im.tm:l:ﬁ{ma.'l c;,:iminal onthe mu:‘wim the irvestigation
Jaeneies a1l cnunir'i"-‘ﬁ noking 1‘1::_[ htm.Thﬁf-'as E.-mw.l w.l&d of various criumes
T (11 s Lanlering, 130N arrived in India and in an attempi o
liRe ST killed scqurity personnel and was caplured. The court sentenced
ol DR panishen 1 awarded hin a death penalty for murde:

| B bt
%

EC i)
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(1) Yes, locking at his past records it can be concluded that Don was a
dangerous criminal, and the court was justified in awarding him a death

penalty.

(H_‘fe&ﬁ the court has been mandated to provide a death penalty or a life
imprisonment, as it deems fil,

(3) No, the court could not provide a death penalty 1o Don as no person can
be deprived of his life.

{4) No, as Don only had an intention ol robbing a bank and thus, was not guilry
of murder. ! :

1 I.L i

is impure, he is not ol a good character, he should write d
Can X'beused for defamation 7 ccentand good novel

m malafide intentior,.

(3) He cannnt e i'rabiﬁ' because he has Fundamental Right
: © treedon of

crineise sach athae

(45)
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149. PRINCIPLE : Interfering with another's goods in such a way as (o deny the
latter's title to the goods amounts to conversion and it isa civil wrong,.

FACTS : Ram went tothe bit}'ﬂlﬁﬂmﬁ_ﬂtﬂ-pﬂlkhiﬁ- hicycle and he found the stand
fully occupied. Ram removed a few bicycles in order to re-arrange the stand and
made some space for his bicycle. He parked his bicyele properly and put back
all the bicycles except the one belonging to Shyam. [l was rather ncgligent on
the part of Ram and he was in a hurry 1o get ito his office. Somebody came an
(he way and took away Shyam's cycle. The watchman of the stand did not take
care of it assuming that the cyele was not parked inside the stand.

Ghyan filed a suit against Kam for conversion.

(1) Shyam would cuceeed because Ram's act led to the stealing of his bicycle.

{2) Shyam would not succeed, because Ram did not take away the bicycle

himself.

(3) Ram would not be held responsible for the negligence of the watchman.

(4) None of the above.

150 PMHClP],E - Limitation bars thee remedy, not the right,

FACTS: Affer the expiry of the pm'ind of limitation of three years, debtor Rohan
ma.k.ts a part payment of debt to creditor ohan. Sohan then files a suit against
Rohan for recovery of the dobi afier two years from the date of part payment.

Decide.

( 46 (8 artinued)
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(1) The part payment extends the period of limitation,

(2) The suit is time barred as part payment is made after the expiry of period
of limitation.

(3) Fresh period of limitation begins from the date of part payment,

{4) None of the above.

(47)
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